= AH O
N = 0 &8 AF S & Al A
TH S
HE2AZUI (KR (I1EH/DIE
|23 (e
= TH ol (5 =] A 1T (==} OH Xn_-“r;:'_'n:_ =D}
M- 3 - SHA(SAH) - MEMY - HAES 0] AFCH Ol AF o8 Hlm=s2
Rl 1,560,453 1,749,098 188,645
HESHHU (M) (OIEHIIE 77,705 76,278 1,427
| 224 77,705 76,278 1,427
23| 77,705 76,278 1,427
201 LEtRAHH| 31,516 30,468 1,048
01 At 22| 29,716 29,268 448
Odet=2H| 19,560,000& 19,560
O= &l 7,000 *312H x64!x0.65% 122 10, 156
02 2229H| 1,800 1,200 600
O=222=2 ¢ HMA 150,000 «12& 1,800
202 04 Hl 41,989 41,610 379
01 2LHOHI 41,989 41,610 379
ORANESE JI2gRFE ol 30,240,000& 30,240
o&A0H(AasEs &4 5)
75,8002 x31@ x5 11,749
203 & L=Zd| 4,200 4,200 0
04 EN2IERFAH| 4,200 4,200 0
ORANSIEHIFX(HA30020l5}H)
350,000 «12& 4,200
FMAES (LI /XSS - WEHXH) 306,714 294,176 12,538
|2 Al 2 109,716 104,846 4,870
I, £=AE A2 109,716 104,846 4,870
101 @1 21| 12,093 11,506 587
04 JIZtHI22XsSE% 12,093 11,506 587
ORI A FHAXE 23 ol
36,690 x2H x 120 8,806
Ogxt ¥« =x=x< 36,690 x2H x5 x5! 2,202
o4eEE2 11,008,000 *0.0985 1,085
201 LEHRHH| 54,340 54,340 0
01 At 22| 19,340 19,340 0
OgBt42H| 18,220
—XNegAHEE L XgMaL 2
140,000 20 2,800
— XA EHH DA 2
75,0002 x1008F A 7,500
—1DAAN 888 DEHTEE EH 2
495,000 8K »2CH 7,920
OXEMACRARS 2HSY
70,000 23| x8H 1,120
02 2=229H| 35,000 35,000 0




M HR

By GEHASS(LNTIHT/ AL - HIXL)

ol KAl 2t (649l &2
_ _ pSNE e
SAN-ZH-SA(FA) - NFAY - BES Off &F oK bﬂngﬁ Hws2
OSH NLHDUMN 252
1,750 %20,00024 35,000
202 01 Hl 10,400 10,400 0
01 2UH Ol bl 10,400 10,400 0
OXIZAl DMIRE B RIA A
20,0002 42 %1302 10,400
204 D@43 Y| 13,200 12,000 1,200
03 SHALAY 13,200 12,000 1,200
ONREY T2 2SH|
100,000/ 112« 122 3,200
306 2012 1,388 0 1,388
NELEE] 1,388 0 1,388
OS2 LA 7R E013
13,880,000, 000 *0. 0001 1,388
403 KX EHHI S 20| & 18,295 16,600 1,695
02 2 J12HS 0ll CH B CH 8 AL 24 18,295 16,600 1,695
ONLHELAIAEY KX 24|
18,295, 0002 *11 18,295
22 SUNR w2 8,500 8,500 0
HISZEA AA 8,500 8,500 0
202 018 4,000 4,000 0
01 2LHOI ] 4,000 4,000 0
Ol HIREA Ol 20,0002 *58 x40 4,000
203 & @ =T 2,500 2,500 0
03 Al ERY R =T Y| 2,500 2,500 0
OZ=2 U =2 NALE YLFAY|
20,0002 58 %252 2,500
303 Z&2 2,000 2,000 0
01 ZA2 2,000 2,000 0
022 &2 NYL2 Z43
40,000,0002 *5/100 2,000
NN XNEWLRE e 12,003 11,506 587
KAl BIDA, 2SX2 LH I 12,003 11,506 587
101 Q1248 12,003 11,506 587
04 JIZH22TS 4 12,003 11,506 587
OXIZA BIZIMIRE HAF & Rareiet ol
36,6902 %22 *1202 8,806
Ogx ¥ Fi+Y 36,6902 22 x5 462 2,202
O4RE2 11,008,0002 x0.0985 1,085

ERA M2 99,399 88,129 11,270




M HR

o NFWRSS (LB

02

/ALY - HAEXE)

ool 22K Mzl (el &2
_ _ HEE =
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
HE =2 4T, ZA 93,399 82, 129 11,270
101 2121t 26,199 24,929 1,270
VEENEEP TR 26,199 24,929 1,270
OMEZLSHEA Q12|
36, 60021 #1334 *402! 19,079
O L FA4+Y 36,6002 +13Y 5222 4,770
odEER 23,849,000 %0.0985 2,350
201 YEr2gy| 63,200 53,200 10,000
01 A2 22l 57,700 47,700 10,000
ogersg| 55,040
—HEFeOA RSN 7Y
75,0002 %30 A 2,250
—HEFUEAE L MFRZEN AN HE
701 %40, 0000H 2,800
—FEHET2 Y WUNEY DETRIE £
29 95,0002 24 990
—HEFEIN ABL4E
7,000 * 14,0005 %50/ 100 49,000
ORSNTIIRIAE 2Y4L
70,0002 138 x23] 1,820
OMEFASHEA SR 24 M
7,0002! +38 x40 840
02 B2 5,500 5,500 0
ONgFe ZBENS L5
20021 15,0005 *50/ 100 1,500
OTHAAH DRIM Za 2002 x20,00024 4,000
202 01t 4,000 4,000 0
01 2UH0I b 4,000 4,000 0
OMEFASH SENUTA, AREY A2X7
o1t 20,0002 ¥5% x402 4,000
THARAI & Dt 6,000 6,000 0
201 YBr2 | 6,000 6,000 0
01 A2 22l 6,000 6,000 0
OTHAAl 2ot DR 72 6,000
—&x 75,0002 #4058 & 3,000
—A=g 75,0002 #2084 A 1,500
— =g 75,0002 #2084 A 1,500
KA (2]) &2 77,006 81,19 A4,189
ES=3n] 77,006 81,195 £4,189
101 2121t 12,003 11,506 587
04 JAR2RNS 24 12,003 1,506 587




M R
A =S (LSS /NLSHE - WEXLH)
PN

el LA &

SA-ZH - S2A(3AH) - MEAME - HES Off &+ o4 %Egﬁ Blusz
OMgY 485 2 HazHl o2el
36,6902 2% x24 2 5 8,806
OFx ¥ X 36,6902 2% +6 2 x5 2,202
O4 =B E 11,008,000 *0. 0985 1,085
201 et | 39,133 29,153 9,980
01 AL BH2IH] 23,903 20,903 3,000
Oget+gH| 21,383
~HEA LHER S 222 N 7Y
50,0008+ 1324 <23 1,300
~HYSEDXAN L5E FES 7Y
5024 %50, 0000 2,500
~NAl He(S5) DNA P
75,0008 *50% A 3,750
—HeI+e DXM Y 75,0008 258 A 1,875
~HYDNA 8 S EH 7Y
205, 0008 30H 43| 2,460
—~BHE 48 100, 0008 +2021 2,000
~XS0IH +42 50,0002 %62] 300
—NEA HEX HASO| 242
100, 0008 1021 1,000
~NZEDISHA +48 16,5002 » 12| 198
—IINHF +4E 80! %20,0002! 1,600
— XAl RHE 242 100%+20,00021 2,000
—HEX SEMY FUYR 248
2,0002*1,2002! 2,400
70,0008 +42 <33l 840

OMgZa & HEAH == OF2AZ2A S4
7,

0002 x4 x5+ 128 1,680
02 BB 15,230 8,250 6.980
OXNZAH HEXHE SIIBRS
1, 75021 60021 1,050
Ol AYRSESI| 2SN 7Y
3,000 20021 600
OJFMHZAIAE RABAH 230,008 128 2,760
OMENZY HEB XML RA24H|
360,0002! 128 4,320
OMEX SEESIAAL KX 24|
230,0002 128 2,760
OUNBHBZSIAAEY AHSE 2,640,008 13l 2,640
OFKSLRAMHIA 248 2,200 #5002 1,100
202 01t 7,080 7,080 0
01 =LK 01 bl 7.080 7,080 0

OXgd = 28 ol

20,0002 x2& 52| x12& 2,400




DMt

M UHFHIES (LSS /ALY - HEXH)
ol M (2l) B CEERED
X LH -
SN I SRI(S) - NRAY - B sk e B RS2
O22AMeH =25 Oyl
30,000 x2H x53] « 123 3,600
OHgRtIE= =& 0t
30,0003 18 +33| 123 1,080
303 Z& = 6,200 6,200 0
01 Z&3 6,200 6,200 0
OZM Mg LAz 80,000,000 *5/100 4,000
OXNgNMEZI =S8 A&S 2,200
— 19 1,000,000& x 1S5S 1,000
— 29 700,000&*1JHEH 700
— 39 500,000& *1JHE S 500
403 AHXIEHH S X201 ™ 12,500 27,256 A14,756
02 S| 2SOl CHEHCH &AL B 12,500 27,256 A14,756
OMol+e AMT2T8 S 4|
12,500,0005’.;4*1';:1 12,500
SIHEAN S (L33 / ALY - THEXRH) 79,463 78,392 1,071
EHst 3AH™e 64,263 63,192 1,071
SEF0HAL 8,640 8,280 360
201 L2 5,040 4,680 360
01 AR 2teld| 5,040 4,680 360
OuetdEH olgx==2 10,000& 2024 123 2,400
OZeED| JtECIX 7L 230,000& *6H 1,380
O3S 2E+Y 70,0003 +32/+6% 1,260
202 ¢4 4l 3,600 3,600 0
01 =LHA bl 3,600 3,600 0
OS3S70M HBZA SRFE G
30,000 x2H x5« 123 3,600
X E2tel 39,503 38,392 1,111
101 @12l 12,093 11,506 587
04 JI2tH22 XS E 12,093 11,506 587
OglAXz dagddd o2y
36,6903 x2& 202 x62 8,806
O=x & 3axt 36,6003 x2EH x5 «6E 2,202
o4tz 11,008,000& +0.0985 1,085
201 et A | 24,610 21,086 3,524
01 AR 2t eld| 18,610 15,586 3,024
Oget=g| 9,580
—S|HZ LA A 50,0003 x2&+75¢ 7,500
—HRE JERN L A2E ¢
200,000 »3CH*2AI E 1,200




SAM: R
s e
M FAEAN Y (LIS HE /XL

02

- HEXE)

ool Ss sXHel (25l &2
- - o HEE =
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
—SIHEZZ2OY A=W =20l
220,000% 44 830
ONYHEZ A 2ARLL
70,0002 +252 x3%H 5,250
OSIHZA, BHNT Fel OI22K SAH|
7,00021 5% 92 122 3,780
02 B2 6,000 5,500 500
OSINZ2I RXE4H 6,000,008 1 6,000
202 04t 1,800 1,200 600
01 20l b 1,800 1,200 600
OTHAZ L SN BSHY
0,000 2% 152 523 1,800
203 YL =T 1,000 1,000 0
03 Al E QR E | 1,000 1,000 0
OSIHZ L HESE Y=Y
20,0002 102 *53] 1,000
TAHY o H 16,120 16,520 A400
201 YEr2g Y| 12,760 14,120 A1,360
01 At 22| t] 2,760 14,120 A1,360
OUZHHE 018 £42  10,00021%3021+ 128 3,600
ONEZBA ANBE 442
1,300, 0002 #1214 x6 2 7,800
ONNMLHBHLE 7Y 50,0002 +6 900
OZED EH 7Y 230,0002 +23l 460
202 04t 3,360 2,400 90
01 201 bl 3,360 2,400 960
TAETYs YLFT 0ofb)
20,0002 22 +7 122 3,360
=4I| 3XHHe 15,200 15,200 0
WRRDAN 22t 15,200 15,200 0
201 Yeregt| 12,800 12,800 0
01 At 22|t 2,800 12,800 0
O=AR)| 2% 98 AE U2 448
1,600, 0002 x42 )| 6,400
OMSBIN o 248 16,0002 <2005 3,200
OSSN It 22t 16,0002 +200%2 3,200
202 04t 2,400 2,400 0
01 20l ] 2,400 2,400 0
OBFAIZ WX ¥ FEZR P25 ofH|
30,0002 28«23/« 128 1,440
OMSPINLL HeINE HRFF 0ft)
20,0002 22 x25| « 122 960




M HR
I A (YD /L)
el HAR2 e RS
SN EE - ER(EN) - NRAY - BaS e HlRE2
THar2p| (L3 DA /U BHal ) 1,096,571 1,300,252 A~ 203,681
At2te] 773,991 894,698 A 120,707
ENSEE 473,991 393,798 80,193
201 gEt2dd| 470,631 390,438 80,193
01 AFR22Ib| 76,100 15,800 60,300
O getagH| 75,200
—gmA B 7Y U A
100,000& «123] 1,200
—FAzelg ABE P
100,000 «9& 128 10,800
—stEa ZEH 2 20,000 =104+ 123 2,400
—HAEA30I8 3tE F* 50,000 54 *43] 1,000
—3t&EA ¥ SO0lEtE #& 300,000 «12& 3,600
—R01ZH H¥gs+r2(28, 8%, 2EFD)
3,000,000& 123 36,000
—dIetMEE 2
1,200,000& x12& 14,400
-2 MHHEEE =2 400,000& =13 400
—AHAEEZ === 300,000 128 3,600
—s&)| HEexE 150,000& «12& 1,800
OF A2 &2] 0=l
150,000 3«2 900
02 2324l 391,781 371,888 19,893
O&232= ¥ HAl 273,871
—&J123 10,000,000& »12& 120,000
—&ot=ERe=s 900,000& «12& 10,800
—XN&EHESH =2 137,371
THoll =+ 3/l 60, 155,000& *110/100 66,171
- &t S A=Yl 51,000,000& *120/100 61,200
CZ2ANEE XSS A
10,000, 000& 10,000
—EA 2EE RE= 700, 000& *1JH 2 700
—=3& 22 SZiE RE3
600,000 * 14 A 600
— A 2rOrM S 3| H| 200,000 =13 200
—Z3tx FAH 4,000,000& 13| 4,000
—=& 2liss2 =2 Z Al
200,000 =13 200
(@) K=3:] 63,420
—22d HiHlwm L 350,000& 90 31,500
—0lsAHZE A=Y 31,920
e 1,329. 923 50120 £ » 120 15,960
Eg=] 1,329,922 «10CH*10 £ »120 15,960




SN R
HE: AP (LB /L)

Sl Z Az (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
OAE &I =Xl 54,490
—SAMAMEE RAES 5,000,000 *62 30,000
—PUY BB A U AN
3,500,000& 12l 3,500
—==A350 WA ¥ 50,000 =304 1,500
—HHE)| SX=H 250,000& = 15CH 3,750
— & A 450,000 *63! 2,700
—S%3 FAH 700,000 »23! 1,400
— &I 2 150,000& =122 1,800
—28 S48 U ALYS 24
320,000& 122 3,840
—2tAt2t el 500,000& 10 A+ 123 6,000
03 S AI2E | 2,750 2,750 0
O=2dd JIE NHdal SAHa A
55,0003 x50 * 13| 2,750
202 04l 3,360 3,360 0
01 =LHAOHI 3,360 3,360 0
OE MR 22l ol 20,000 x2S 7L 12& 3,360
AN A2 FHHISAM 300,000 500,900 200,900
401 AIEHIZ 2 THYI 300,000 500,900 200,900
01 A& H] 300,000 500,000 200,000
OFM A2 HHIZAH 30,000,000 1090 2~ 300,000
=5 ¥ g2 312,610 389,830 ATT,220
=5 ¥ g 2 118,500 198,000 AT79,500
405 XHatE =l 118,500 198,000 AT79,500
01 A&t =S F =8I 118,500 198,000 AT79,500
O:LFHEAXZE WA 80,000,000 = 1CH 80,000
O==AR2&J| wH 200,000& x5 *202 20,000
O==dN=S A uH 5,500,000 »3CH 16,500
OLZ=WmAI| WA 500, 0003 *4CH 2,000
g |2 194,110 191,830 2,280
201 B2 176,110 175,630 480
01 AtR2telH 6,000 6,000 0
OnsEz S8z JiE A
100,000 x4 &+ 128 4,800
Oz =2 300,000& *43] 1,200
02 3244 170,110 169,630 480
OXSZtA 110,000 »21CH 2,310
OXsx B8x2 11,190
—SgsE 400,000 = 1CH 400
—esE 650, 0003 »1CH 650




A MR
M AR (LUDDHE /L)
ool 23 2 g2 (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
—Sgs¥ 700,000& 2CH 1,400
—ese 900, 0003 = 1CH 900
—2g3= 400,000 *4CH 1,600
—Sg3= 440,000 *6CH 2,640
—ests 600,000 *6CH 3,600
OXsSiE SdIMEaEs3 70,0008 19U« 12 1,330
OXgss0 & Hdlyl 153,000
—S8s8 5,000,000& = 1CH 5,000
—HeEsE 9,000,000 = 1CH 9,000
—s8s¢ 4,000,000 *2CH 8,000
—legseg 15,000, 000& = 1CH 15,000
—A"s=E 3,500,000& »4CH 14,000
—Sg3= 7,000,000& *6LCH 42,000
—Ugst= 10,000, 000& ~6CH 60,000
OXHEE ARt 15,0002 23| «50H 12 1,800
OUEse fAdLs=4Hl 20,0003 20«12 480
202 O4Hl 18,000 16,200 1,800
01 2UHOHI 18,000 16,200 1,800
OXgd € EJ1E88 283 0l
10,0003« 10E x 152 12& 18,000
=, 2% e 9,970 15,724 A5,754
=, 37 Mzt 9,970 15,724 N5, 754
201 L2 Y| 6,370 6,370 0
01 At 22l 6,370 6,370 0
Oget+=2H| 4,900
—=3FM4 2E+==+=8 150,000 102 K| 1,500
—=SFML B2EEEErE
200,000 102 X| 2,000
—JtECIXl § H&AZE P
200,000& 35 +22] 1,200
—2c 28 +=gdSA 7 2,000& %1002 X 200
O=33M& HEHZAL SAH|
7,000 »3H+70 1,470
202 44l 3,600 3,600 0
01 2L 3,600 3,600 0
O=Z3FMe el ol
20,000 x3& x5 x12& 3,600




